
Quest ce que le cadeau  A' - ? ( )Quel nombre se trouve dans chaque cadeau?
11 × 11 = 20 × 9 = 14 × 4 =4 × 13 = 7 × 10 = 13 × 20 =2 × 8 = 7 × 7 = 14 × 16 =14 × 19 = 14 × 16 = 9 × 19 =20 × 2 = 14 × 20 = 17 × 18 =6 × = 78 9 × = 72 10 × = 506 × = 48 19 × = 323 20 × = 20019 × = 247 10 × = 60 16 × = 25613 × = 65 12 × = 132 14 × = 564 × = 60 10 × = 60 9 × = 90× 4 = 80 × 8 = 64 × 4 = 8× 5 = 65 × 12 = 48 × 13 = 156× 3 = 9 × 4 = 24 × 14 = 154× 6 = 120 × 9 = 144 × 10 = 20× 13 = 39 × 2 = 4 × 9 = 135

Joyeux Noël de MathsLibres.com!


